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’ SECTION
Answer BOTH questions.

Write your answers on the pages provided at the end of each question.

5. Figure 6a shows a diagram of a vertical section through the human eye.
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S Figure 6a. Vertical section through a human eye
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(a) Name the structures labellgd A, B and C in Figure 6a. ( 3 marks)
(b) State the functions of the structures labelled A and B. ( 2 marks)

(©) Figure 6b shows the journey that Fred needs to take to reach his home.
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Figure 6b. Fred’s journey to his home

(1) Sometimes Fred runs up the slope. Explain how his breathing and heart rate change
as he runs up the slope. ( 5 marks)

(i1) Which TWO sense organs enable Fred to run’up the slope? Explain your answer.
{ 5 marks)
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Write your answer to Question 5 here.
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Write your answer to Question 5 here.
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Write your answer to Question 5 here. |
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Comments

Integrated Science

Paper 02 — June 2011

Question 5: Exemplar 1, 2 and 3

Part (a)

Part (b)

Part(c)

These candidates were awarded full marks for this part because the candidates
were able to correctly identify the labeled parts of the eye.

These candidates were awarded full marks for this part because the candidates
were able to clearly and correctly mark the functions of the labeled structures.

These candidates were awarded full marks for this part because the candidates
were able to provide clear and detailed explanations demonstrating their
understanding of how breathing and heart rates change during exercise as
required in (i). The candidates were also able to name the Sensory organs
mvolved in the activity and to explain correctly the role which the sensory
organs played in the activity.



